INSTALLING THE HANGER BOLT

Drill hole 125mm [5"] deep, using a 5.2mm ['34,4"] drill bit.

Screw M8 hanger bolt into wood structure.

INSTALLING HANDRAIL FITTING

Endcap, BA2-P10

Remove the endcap BA2-P10. Secure handrail fitting with the socket
capnut using a 8mm Allen key.

(Same Allen key as for 3/8"-16 socket cap screw).

25 min

125mm [5"] Total length

40 max

I

M8 Hanger Bolt —/

(5" Overall length)

—————— [ I
T EE::;:j - - E‘Zi i
ﬁi iiiiii I

BA02-P03

CLOSE FITTING

Turn endcap BA2-P10 back into the front of the fitting. Tighten the
M4 set screw at the bottom to secure the cap.

M8x1.25 socket capnut

1

l"HII

[

M4 set screw

R R

A
I

77l

lllﬂlﬂlllllllll
lllullllllllllll

I”'ll’”‘llllm:ﬂ:l!:lll'

RlE

"llllﬂlllllllﬂlﬂ

JHIEEEE >

Disclaimer: Hole in glass: See above Drawn Drawn date
These instructions provide guidance for installation only. Dimensions millimeter unless otherwise shown. Apply loctite 243 to all threads MT JUL 08-2020
They do not constitute suitability for application, which during assembly (To increase curing speed, please apply activator 7649) - - - —
. N R Dprove: pprove ate
should be provided by a registered Engineer.
JS JUL 08-2020
Scale Rev.
INSTALLATION INSTRUCTION 12 . 1] (804) 231 5862
HANDRAIL FITTING WALL MOUNTED INTO WOOD WG N [f] (604) 231 5893
BA382-W BA382-W-IM [e] info@stellaglasshardware.com

This drawing is the property of Stella Custom Glass Hardware Inc and may not be copied or reproduced in any way whatsoever without written permissi

of that

pany




	Sheets and Views
	BA382-W-IM


